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radius = 4.0;
cellSize=1;
pio2=Pi/2;
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Point(1) = { 0, 0, 0, cellSize};

Point(2) = {-radius, 0, 0, cellSize};

Point(3) = {0, radius, 0, cellSize};
(4)

Point(4) = {0, 0, radius, cellSize};

OPoint(00) = {(x00), (yOO),(z00)0(OOODOOO) }
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Line(101) = {1,2} ;
Circle(102) = {2, 1, 3};
Ellipse(113) = {2, 1, 3, 2};

OLine(00) = { (00)0(0DO) }
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OCircle(00) = { (00)O(@OO)O(@O) }
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OElipse(00) ={ (00)0(00D0)0(0000000)0(@O)}
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Line Loop(201) = {101, -103, 102} ;
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Plane Surface(301) = { 201 };
Ruled Surface(302) = { 202 };

0 Plane Surface(00) = { (0D O00ODO) }
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0O Ruled Surface(0DD0) ={ (0DD0D0) }
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Surface Loop(401) = {301,302,303,304,305,306};

O Surface Loop(D0) = {(DOO0O0OOOOO)O--- (O)k
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Volume(501) = {401};
Volume(502) = {401,402}

OVolume(OO)= {(0ODOO) }
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OVolume(DO) = {(00O00)I---0(0000) };
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Phisical Point(1001) = { 1,2,3,4 }

Phisical Line(1002) = { 101,102,103 }

Physical Surface(1003) = {301,t1[0],t2[0],t3[0],t4[0],t5[0],t6[0],t7[0] };

Physical Volume(1004) = {501};

0000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000 (Phisical Point00000000
0000 1,23400000000)
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0000000 TranslateO OO OO0 OO Rotated OO OO OO DuplicataO0 0O 00O

Translate {1, 0, 0} { Surface{301} }
t1[] = Translate {1, 0, 0} {Duplicata{Surface{301};}};
t2[] = Rotate {{0,0,1},{0,0,0},pio2} {Duplicata{Surface{301};}};
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Surface Loop(401) = {301,t1[0],t2[0]};
gobOo0o0o0ooOoOoOoooOoOoboO looooooooooooogo



311 000000

00000000000 D000 (spheregeo) 0000

//sphere.geo

radius = 5.0;

cellSize=0.3;

pio2=Pi/2;

Point(1) = {0, 0, 0, cellSize};
Point(2) = {-radius, 0, 0, cellSize};
Point(3) = {0, radius, 0, cellSize};
Point(4) = {0, 0, radius, cellSize};

Circle(101) = {2, 1, 3};
Circle(102)= {4,1,2};
Circle(103)= {4,1,3};

Line Loop(201) = {101, -103, 102};

Ruled Surface (301) = {201};

Surface Loop(401)={301,t1[0],t2[0],t3[0],t4[0],t5[0],t6[0],t7[0] };

Volume(501)={401};

Physical Surface(1001) = {301,t1[0],t2[0],t3[0],t4[0],t5[0],t6[0],t7[0] };
Physical Volume(1002) = {501};
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000000 (radius) 00000000 (cellSize)0.30000000000000Point()00000000 1/8
0000 3020304000004000000000

0000000 10101030 1/8000000000000000000
0000201001/800000000000000

030100201000000000000000000

0000000 10000000000000000003010000000000000000 20000 1/80
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$ MeshFormat
2208

$ EndMeshFormat
$ Nodes

39

1500

2050

3005

39 -1.46711972495516 -1.486957954076984 -1.480137539178151
$ EndNodes

$ Elements

172

1221001301101 7

22210013018107

56 2 2 1001 324 24 23 30
57 4 21002 501 32 5 31 34
58 4 2 1002 501 6 32 31 34

172 4 2 1002 501 12 21 22 33
$ EndElements
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/*

0** O (Piont) OO

1** 0 (Line,Crrcle) 00
2** 0000 (Line Loop)
3%* 0 (Surface) OO

4** 0000 (Surface Loop)
5% 0000 (Volume)

*/

radius = 4.0;
radius2 = 2.0;
cellSize=1;
cellSize2=1;
pio2=Pi/2;

/1 1*
// 000000000

/1*/

// create oval 1/8 shell

Point(1) = {0, 0, 0, cellSize};

Point(2) = {-radius, 0, 0, cellSize};

Point(3) = {0, radius, 0, cellSize};

Point(4) = {0, 0, radius, cellSize};

Circle(101) = {2, 1, 3};

Circle(102)= {4,1,2};

Circle(103)= {4,1,3};

Line Loop(201) = {101, -103, 102} ; Ruled Surface(301) = {201};

/1 7*
// 00000000000
/1*/

// create inner 1/8 shell
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Point(11) = {-radius2/4, 0, 0, cellSize};
Point(12) = {0, radius2, 0, cellSize};
Point(13) = {0, 0, radius2, cellSize};
Point(14) = {0, -radius2, 0, cellSize};
Point(15) = {0, 0, -radius2, cellSize};
Ellipse(111) = {11, 1, 12, 12};
Ellipse(112) = {13, 1, 13, 11};
Ellipse(113) = {12, 1, 13, 13};
Ellipse(114) = {14, 1, 14, 11};
Ellipse(115) = {13, 1,13, 14};
Circle(116) = {14,1,15};

Circle(117) = {15,1,12};

Ellipse(118) = {11,1

,15,15};

//000 Line Loop

Line Loop(211) = {111, 113, 112} ;
Line Loop(212) = {115, 114, -112} ;
Line Loop(213) = {118, 117, -111} ;
Line Loop(214) = {116, -118, -114} ;

//000 Surface

Ruled Surface(311) = {211};
Ruled Surface(312) = {212};
Ruled Surface(313) = {213};
Ruled Surface(314) = {214};

/1 7*
// 00000000000

/1*/

//1/8shell 0000000000D00000 (3020308) 000

a302[] = Rotate {{0,0,1},{0,0,0},pio2} {Duplicata{Surface{301};}};
a303[] = Rotate {{0,0,1},{0,0,0},pio2*2} {Duplicata{Surface{301};}};
a304[] = Rotate {{0,0,1},{0,0,0},pio2*3} {Duplicata{Surface{301};}};
a305[] = Rotate {{0,1,0},{0,0,0},-pio2} {Duplicata{Surface{301};}};
a306[] = Rotate {{0,0,1},{0,0,0},pio2} {Duplicata{Surface{a305[0]};}};
a307[] = Rotate {{0,0,1},{0,0,0},pio2*2} {Duplicata{Surface{a305[0]};}};
a308[] = Rotate {{0,0,1},{0,0,0},pio2*3} {Duplicata{Surface{a305[0]};}};

//00000000D

b315[] = Rotate {{0,0,1},{0,0,0},pio2*2} {Duplicata{Surface{311};}};
b316[] = Rotate {{0,0,1},{0,0,0},pio2*2} {Duplicata{Surface{312};}};
b317[] = Rotate {{0,0,1},{0,0,0},pio2*2} {Duplicata{Surface{313};}};
b318[] = Rotate {{0,0,1},{0,0,0},pio2*2} {Duplicata{Surface{314};}};

//000000000

b321[] = Translate {2, 0, 0} { Duplicata{ Surface{311}; } };
b322[] = Translate {2, 0, 0} { Duplicata{ Surface{312}; } };
b323[] = Translate {2, 0, 0} { Duplicata{ Surface{313}; } };
b324[] = Translate {2, 0, 0} { Duplicata{ Surface{314}; } };
b325[] = Translate {2, 0, 0} { Duplicata{ Surface{b315[0]}; } };
b326[] = Translate {2, 0, 0} { Duplicata{ Surface{b316[0]}; } };
b327[] = Translate {2, 0, 0} { Duplicata{ Surface{b317[0]}; } };
b328[] = Translate {2, 0, 0} { Duplicata{ Surface{b318[0]}; } };
//00 3000000

b331[] = Translate {-2, 0, 0} { Duplicata{ Surface{311}; } }
b332[] = Translate {-2, 0, 0} { Duplicata{ Surface{312}; } };
b333[] = Translate {-2, 0, 0} { Duplicata{ Surface{313}; } };
b334[] = Translate {-2, 0, 0} { Duplicata{ Surface{314}; } };
b335[] = Translate {-2, 0, 0} { Duplicata{ Surface{b315[0]}; } };
b336[] = Translate {-2, 0, 0} { Duplicata{ Surface{b316[0]}; } };
b337[] = Translate {-2, 0, 0} { Duplicata{ Surface{b317[0]}; } };
b338[] = Translate {-2, 0, 0} { Duplicata{ Surface{b318[0]}; } };

//Surface Loop 0O O
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Surface Loop(401) = {301,a302[0],a303[0],a304[0],a305[0],a306[0],a307[0],a308[0]};//0 O
Surface Loop(411) = {311,312,313,314,b315[0],b316[0],b317[0],b318[0]};//0 O 1

Surface Loop(412) = {b321[0],b322[0],b323[0],b324[0],b325[0],b326[0],b327[0],b328[0]};//0 0 2
Surface Loop(413) = {b331[0],b332[0],b333[0],b334[0],b335[0],b336[0],b337[0],b338[0]};//0 0 3

/1 7*
// 000000

/1*/

/17*

// 00000

v

Physical Surface(1001) = {301,t302[0],£303[0],t304[0],t305[0],t306[0],t307[0],£308[0]};
Physical Surface(1002) = {311,312,313,314,b315[0],b316[0],b317[0],b318[0]};

Physical Surface(1003) = {b321[0],b322[0],b323[0],b324[0],b325[0],b326[0],b327[0],b328[0] };
Physical Surface(1004) = {b331[0],b332[0],b333(0],b334[0],b335[0],b336[0],b337[0],b338[0] };
Physical Volume(2001) = {501};

Physical Volume(2002) = {511};

Physical Volume(2003) = {512};

Physical Volume(2004) = {513};

0001000 ClO0 300000 c20C30c40opo0oopoooon

C1 2% +y? + 22 = 25
y2 22
c2 4o + 2+ = = 1
4 4
y2 2,2
c3 4(:10—2)24—%—1-% = 1
Yy z
4 Az+22+4+ = 1
C (r+2)" + YRR
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00000000000 ooO0o0ooOo0OD 20010 0O0C30C400000000000000 20020200302004
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1 GmshOOODOO http://geuz.org/gmsh/

2 0000DOO0OOOOooOO http://geuz.org/gmsh/screencasts/

3 GmshO0DOOOOODOOOOO  http://www.openacoustics.org/wp-content /uploads/2010,/09
/gmshQuickstart20100919.pdf
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